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Chapter 6 Assicnment

Name:

Date: .

Block:
1. Simplify the following:

T 2
. csct -2 ]
(@) ——— () cot® xsin® x+cos® x
cse” @
sec@—cosd . @ 2tan x
cscf—sin @ _ cos® x+sin? x+tan? x
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2. Express 2cos® 4x—2sin* 4x as a single trigonometric function.

3. Simplify the following:

(a) cos(c+90°) _ _ » . (b) Siﬂ(% - é)

4. I sinf=aand 0<8 <§, determine an expression for cos(z +6).
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5. If secd= -13 and 1;— <@ < 7, determine an expression for sin(f—x).

6. Solve the following, accurate to 2 decimal places, for 0 <8 <27z

2sec? x+5secx~3=0
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7. Solve for all possible solutions in radians

sin2x=2sinx

8. Prove the following identities.

sin 28 , cos@
————=cotf : =secf+tan 8
@ 2—2cos? @ « ®) 1—-sin@ _ an
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(c) tan® x—sin® x=tan? xsin® x

9. State all the réshictions for the following:

cotd
1—sind@

(a)

@

(sin & +cos)*

sin 264

cscld

cosd@

=csc260+1
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secd

10. State the restrictions for —

if0<0<2x.
~ 4sin”6~1 .

11. Verify sin @ +cos @ cot @ = csc § for =30°.
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